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Chapter 16
Chapter Test B
Multiple Choice
Circle the choice that best completes the statement or answers the question. 

1.
Gases such as water vapor and carbon dioxide that trap heat near Earth are known as
A.
global gases.

B.
greenhouse gases.

C.
proxy gases.

D.
offset gases.
2.
Prevailing winds move
A.
warm air toward the equator.
B.
warm air away from the equator.
C.
cool air toward the poles.
D.
warm air away from the poles.

3.
Warm water is drawn away from the equator toward the poles by

A.
El Niño.

B.
La Niña.

C.
the greenhouse effect.

D.
thermohaline circulation.

4.
Elevation and the presence of features such as mountains and rivers make up an area’s 

A.
topography.

B.
thermohaline.

C.
sequestration.

D.
greenhouse effect.

5.
How do volcanic eruptions affect weather?

A.
Eruptions form clouds that drop large amounts of precipitation.

B.
Gases and particles may block sunlight and lower temperatures.

C.
Vibrations caused by eruptions shift ocean currents, which in turn affect weather.

D.
They cause a long-term increase in temperature.

6.
What has happened to global precipitation patterns during the last 100 years?

A.
There is less precipitation all around the world.

B.
There is more precipitation all around the world.

C.
Some parts of the world are seeing more precipitation than ever before while other parts are seeing less.

D.
Nothing happened—precipitation patterns are the same today as in the past.

7.
To learn what climates were like in the past, scientists investigate the following types of indirect evidence that serve as substitutes for direct measurement.

A.
computer models

B.
proxy indicators

C.
topography

D.
carbon footprints

8.
Which human activity contributes the most carbon dioxide to the atmosphere?

A.
fishing

B.
breathing

C.
burning fossil fuels

D.
farming

9.
How has global warming made it more difficult for polar bears to hunt the seals they feed on?

A.
The population of seals has declined.

B.
Polar bears are forced to swim longer distances between ice sheets.

C.
Seals now have more places to hide.

D.
Polar bears are now being hunted more by other predators.

10.
What killed about 35,000 people in Europe in 2003?

A.
a severe heat wave

B.
lack of food

C.
rapidly spreading disease

D.
rising sea levels

11.
What is the largest source of U.S. greenhouse gases?

A.
agriculture

B.
electricity generation

C.
transportation

D.
deforestation

12.
About what percent of the fuel burned by an automobile actually moves the car down the road?

A.
14%

B.
34%

C.
64%

D.
84%

13.
Factory A is allowed to release 100 units of carbon dioxide, but it only needs to release 75 units, so it plans to sell its 25 extra allowances to Factory B. What type of program does this demonstrate?

A.
carbon footprint

B.
carbon sequestration

C.
cap-and-trade

D.
Kyoto Protocol

14.
How was the Kyoto Protocol an improvement over the United Nations Framework Convention on Climate Change?

A.
The Kyoto Protocol was aimed at reducing greenhouse gas emissions.

B.
The Kyoto Protocol received support from the United States.

C.
The Kyoto Protocol was binding, not voluntary.

D.
The Kyoto Protocol treated all nations equally.

15.
What is one of the criticisms of the Kyoto Protocol?

A.
It will never expire, and thus can never be altered.

B.
Most nations did not support it.

C.
It forces developing nations such as India to take the lead in reducing emissions.

D.
It only requires developed nations to reduce emissions.

Modified True/False
Indicate whether the statement is true or false. If false, change the identified word or phrase to make the statement true. 



16.
Generally, the farther a place is from the equator, the warmer its climate will be.


17.
One indicator of global warming is that sea levels are dropping in many parts of the world.


18.
Scientists can extract samples of ancient air from ice cores.


19.
As ocean temperatures increase, the amount of carbon dioxide dissolved in ocean water has decreased.


20.
The United States has not signed the Kyoto Protocol.
Completion

Complete each statement on the line provided.

21.
During ____________________, equatorial winds weaken and the surface water in the eastern Pacific Ocean becomes warmer than usual, which has a major effect on weather worldwide.

22.
In general, precipitation falls on the ____________________ side of mountain ranges.

23.
Minor changes in Earth's ____________________ and in the tilt of Earth’s axis can affect the distribution of solar radiation over Earth's surface and cause climate changes that can last for thousands of years.

24.
Global warming is only one aspect of ____________________, which refers to many characteristics, such as temperature, rainfall, wind patterns, and storm frequency.

25.
A carbon ____________________ is a voluntary payment made when one industry or person, instead of reducing its own greenhouse gas emissions, pays another group or person to do so.

Short Answer

Write the answers to the questions on the lines provided.

26.
How does the greenhouse effect work?
27.
Name one effect thermohaline circulation has on weather.
28.
What do scientists believe is the main cause of global warming?
29.
Predict what will happen to precipitation patterns around the world as a result of climate change.
30.
What are two of the weaknesses of using carbon offsets?
Other 

Use the illustration to answer the following questions.
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31.
In the graph, average atmospheric temperature is 15ºC. It is based on the years between 1961 and 1990. The temperature difference between the Above Average and Average lines equals –0.5ºC. The temperature difference between the Below Average and Average lines equals –0.5ºC. Between the years 1850 and 2000, what were the high and low global temperatures?
32.
Describe the overall trend of this graph.
33.
Predict what will happen to the global temperature pattern in the 25 years beyond the year 2000. Explain your reasoning.
34.
What phenomenon is demonstrated by this graph?
35.
Name two actions that could be taken to slow or reverse the trend in this graph.
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